= A
N = 0] &F AF S & AN A
A AL ST
Ha: HMHAY| (AL L)
chel: ol gyl CEEEED
- - _ L3
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
2 & 8T b 26,480,968 36,037,447 N9,556,479
= 117,081
2 5,103,000
< 55,000
= 21,205,887
HESHEAY (AL ) 150,653 146,814 3,839
olea 2AH| 87,856 84,094 3,762
oIt 87,856 84,094 3,762
101 @21 | 83,656 79,894 3,762
01 2 74,518 71,186 3,332
OAZIAZR LY HHZ(21H) 21,119
— 52 11,0022 *1H «10A| 2t 12 1,321
— 6= 9,383 x6H x10A| 2H+12& 6,756
—-72 8,476% x5H x10A| 2t*x12& 5,086
— 8= 7,609 x6H x10A| 2H+12& 5,479
- 92 6,878& *3H x10A| 2t*x12& 2,477
OxUI2PE 8,476 x21H x25A| 2H+12& 53,399
02 JIEHE B4 9,138 8,708 430
OB =(3Y) 9,138
—ANRARRLY(HUR)
7,252% «*3H x10A| 2t 12 2,611
— X222 E 7,2523 x3H x25A| 2Hx 12E 6,527
203 €2 F=&d| 4,200 4,200 0
04 FEASHEYIFFEH| 4,200 4,200 0
OFM 2% gR2F&8H| 350,000 x12& 4,200
JlE&dl 62,797 62,720 77
Jl 234l 62,797 62,720 77
201 gEt24y| 42,357 44,200 AN 1,843
01 AFR2 22| H| 39,281 41,232 A 1,951
Odbt4==H| S MHH A 18,671
OSH SHHA 20,610
02 224 H| 3,076 2,968 108
Ost=8 g aldl 1,000,000 = 14! 1,000
OAMNR & e Az 1,384& %154 =100 2,076
202 044l 20,440 18,520 1,920
01 2Ll 20,440 18,520 1,920
O=2Wod (L) 14,680
O=2UWod (22) 5,760
SHEXNE Y 11,465,142 11,774,978 A 309,836
2 5,103,000
& 45,000
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2N

rag=R=p\ i

BE: S0{EXY N
©: sIIBEHIALY (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o 6,317,142
=Y IIBHEHI ALY 8,573,142 6,181,476 2,391,666
& 3,934,000
< 45,000
i 4,594,142
JAHSB 22 E 497,000 552,000 A 55,000
& 348,000
< 45,000
e 104,000
401 Al HIZ 2018 497,000 552,000 A 55,000
& 348,000
< 45,000
i 104,000
01 A& HI 497,000 548,544 A51,544
OJIHSHE &2 & I &AL 497,000
= 348,000
< 45,000
[ia 104,000
Bt E=H AR 2AR (REAI) 1,318,285 1,670,670 A 352,385
101 @124l 11,295 0 11,295
04 D12t Z22HEE = 11,295 0 11,295
O=ZHOtS& 22 42,7803 2 x120 10,268
o4tz 10,268,000 *10% 1,027
201 2et2 Y| 78,990 30,670 48,320
01 At 22l 47,220 24,220 23,000
OXNEL=S IHgF & Xl =2
2,000& 2504 500
OUYASI =¢3X ¢ 9,000& »250A 2,250
OE=2&Hdl ZHIXH= 440,000 40 17,600
OSUBHEBE 2BAAL22
109,400 502 5,470
O22 X+ sZEHOSE ZdAY SH ME
=3 21,400
02 2324l 31,770 6,450 25,320
O2H=THIIAIER 200,000& 128 2,400
O=ZHOIES& AIIAEZE  2,000,000& 122 24,000
OZELd=& HIItd Hdx==x2
150,000& »7& 1,050
O2ZHOIs& dIIotE 3
110,000& =128 1,320
OS2 2D FX 2t 3,000
206 = Hl 3,000 0 3,000
01 T2l 3,000 0 3,000
OSLHOIZH 2 L YOUAE 2L 3,000
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DALY
P sHENSE R

D sEIEHEHIAY

M- E8 e (30) - ALY - B AR 0l b SSa DS
Ogd Orgel s22E 30,000
O=d =&l A3 =2 FHHl 20,000
Oss Y 98 =2 FH| 20,000
Ogd M NEE =2 FH 20,000
O=Zd t4el that =2 FH 20,000
Og& sdel M3 =2 EH 30,000
O=ZAM Ot MS =2 FHl 25,000
2L 2 M=REL 1,011,000 0 1,011,000
401 Al HIZ 2018 1,011,000 0 1,011,000
01 A& HI 1,007,373 0 1,007,373
OJstHAIE (201284 %) ZHIRE S 1,007,373
03 Al 2 THHI 3,627 0 3,627
OIS U AL (20128 &)
1,007,373,000& 0. 36% 3,627
ESA ZHIRES 624,000 ,806 A 184,806
403 A X EHHS =0l A 624,000 808,806 A 184,806
02 BII 2SOl CHEHCHE A I 624,000 808,806 A 184,806
OJIAHSE&Z 2t ZAHY 104,000
O2d =X 5L==2 MAINEXAL 220,000
O 2SK2 JHSFEHZ &L H 300,000
HEHATMKSE N 5,122,857 ,000 1,972,857
= 3,586,000
s 1,536,857
401 AIEHI L 20 5,122,857 ,000 1,972,857
= 3,586,000
s 1,536,857
01 A& HI 5,067,617 ,987 1,963,630
OZMHATHA SEZHIAY 2,767,040
& 1,927,040
s 840,000
OHLHATHAI SEEHIAY 2,300,577
= 1,603,720
a 696,857
02 Zeltl 37,000 ,867 133
OZMHATHA SEFHIAY 23,000
& 23,000
OHLEHATHAI SEEHIAY 14,000
= 14,000
03 Al 2 0HHI 18,240 , 146 9,004
OSMHATHX SEEHIAY 9,960
& 9,960
OHLEHATHAI SEEHIAY 8,280
= 8,280
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DALY
P sHENSE R

P sHEMNEEIE A

T o = O o

SA - BB (3) - NRAL - B il HI RS2
Ofis o2l S0t &d 2 & 20,000
OZ& 2AEecl 74 =2 FH| 20,000
ORg 95 Jtel =2 FHH| 20,000
ORg 9= =2 FHl 20,000
Odgd HHel =58 a2 FH| 20,000
SAHHENL ALY ,670,000 1,855,710 A 185,710
& , 169,000
s 501,000
401 Al HIZ 2018 ,670,000 1,855,710 A 185,710
& , 169,000
e 501,000
01 A& HI ,664,009 1,849,053 A 185,044
Os==Mas2A Tl ALY (L=2km) ,664,009
& 1,163,009
s 501,000
03 Al 2 THHI 5,991 6,657 A 666
OsEde 3 F ALY (L=2km)
1,664,009, 0002 *0.36% 5,991
& 5,991
=&E HE HAX 362,000 800,000 A 438,000
401 AIEHI L 20HEI 362,000 800,000 A 438,000
01 A& Hl 362,000 781,626 A 419,626
OsZELsE B, &2 EiiMEg2 =4 362,000
== ,210,717 5,869, 179 341,538
= 115,000
i ,095,717
TS EE ALY , 145,000 525,000 620,000
JIEt 2 =AY 145,000 225,000 80,000
401 Al HI R 201 I 145,000 225,000 A80,000
01 A& tl 145,000 225,000 80,000
OZ% SPHUISAH4MN A, L=1,0km) 25,000
o=k [IM=LD L 1. 4km) 70,000
O=2& NESM(11IH e 32.4kn) 30,000
O=&% 15& &7 & X (L=100m) 20,000
e T2 AMY ,000,000 300,000 700,000
401 AIEHI L 2 CHYI ,000,000 300,000 700,000
01 A& HI 993,739 297,855 695,884
OUY~Z A2t =L I A} 993,739
03 AIE 2 THHI 6,261 2,145 4,116
O~ &2t St Z T AL
993,739,000& *0.63% 6,261
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2N
X ZH -
L= B
el

O F0 1Y
2 Hu nx

M 02 0T
o

o =
E
01)11‘”

h
I

IE ALY

= SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
SHEESSZE AY 1,925,000 1,822,000 103,000
StA~E= 32 E2 MY 600,000 300,000 300,000
ANEHI &2 600,000 300,000 300,000
01 A& HI 596,243 297,855 298,388
OGtA-E=S2t &2 596,243
03 A& =TI 3,757 2,145 1,612
OdtA~E=s2t £E2 596,243,000& *0.63% 3,757
S~ T2 MY 300,000 200,000 100,000
401 AIEHIZ 28I 300,000 200,000 100,000
A& HI 297,855 198,570 99,285
OYS~&A2E & 2SI A (L=1.46kn) 297,855
03 A& S THHI 2,145 1,430 715
OHS-ZMA CRHTE
297,855,000& *0.72% 2,145
JIE sHE E2 MY 485,000 340,000 145,000
401 Al HI & 28I 485,000 340,000 145,000
01 A& HI 485,000 340,000 145,000
OsHEZZHM I AHBM = &3.3kn) 85,000
OsHEZZ UHSEEZM (8 = 14.3km) 30,000
OXEE~AAHH2E &2 X F(L=0.25kn) 100,000
O&AHele nEIM= 100,000
OS8%sE s2(sHET30456) ZH 20,000
O30t MY2R(SsHET3045H) XLF 150,000
HdEYLIH~EMUHR S 2AY 40,000 0 40,000
401 A& BIZ 201 8] 40,000 0 40,000
01 A& HI 40,000 0 40,000
OGN~ AHW2 &2 40,000
LG~ Il E2 A Y 500,000 300,000 200,000
T AEZHIZE0YI 500,000 300,000 200,000
1 A&l 496,425 297,855 198,570
O&g-~Jtsrz2t &2 496,425
03 A& =2 THHI 3,575 2,145 1,430
OdGE~Itsrz2t &2 496,425,000 *0.72% 3,575
SCzusotdEae ¥ B 2,161,487 3,484,496 A 1,323,009
= 115,000
[ia 2,046,487
HElolEs YA 230,000 760,000 A 530,000
= 115,000
s 115,000
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M H e
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[olas

d

P\
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o
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SoLMDIP| 2

[y ) =

HU Hu
k) 0Q
Jhor

= A
- T

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
401 A& HIZ 201 I 230,000 760,000 A 530,000
= 115,000
e 115,000
01 A& HI 230,000 755,241 A 525,241
ONE0IBESAIEMAASE (10HA) 100,000
= 50,000
s 50,000
OUE0IES2ACCTVAE XI At 130,000
= 65,000
i 65,000
X2l THTM2Y At 113,122 112,964 158
206 M= Hl 113,122 112,964 158
01 =8l 113,122 112,964 158
O&oHCHE RtIH— 90,650
—gsasE 250,000& *300= 75,000
-2 o 11,000& 600 ™" 6,600
—NMEEAZ 160,000 50 8,000
—NM&EE2ei=0Ll 150& *7,0000H 1,050
O&tlss 2¥ 4,072
—HLR(U=I12 28) 2,036%*200£ *103] 4,072
OFsdte P (2. s0HEEZE |X E=)
10,000& *1,000%£ 10,000
OJIEtXTH (&, X2 HOE &) 1,000
O=Z=2FHl AP (BA B2, EZXH
g) 3,500
OXM&E Jdioideg =¢ 3,900
—JdioIdE(nRY) 260,000& =154 3,900
IEt =2 FHIAL S 1,818,365 2,043,532 N 225,167
201 LBt 103,265 65,554 37,711
01 At 22l 24,250 24,250 0
OgasSII=Lsh+Y 14,000& =300 Xl 4,200
ON&zY & T2 S|
7,0003 +7H+50 2,450
OM&E®Y & SS=78H gx2 17,600
—#s(0.2mz JE) 440,000& »20 8,800
—EIZE (158 JI&) 440,000& »20 8,800
02 3322l 79,015 41,304 37,711
O322= & HA 6,610
- sk B2 3,850
15€ UEs=(2U) 1,000, 0002 »2CH 2,000
8E UEss(1H) 600
A28st=2 (1) 500
- HESS(1H) 500
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SAN: AL
B c2o aE
o9l CRUSoEBE Y P4 (el:de)
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
S SA(1OH) 250
— HEXH 20 L 2elAt 720
EPSIPIDNE=2-4 50,000& x12& 600
AT AIES 10,000 x12& 120
—0ElolEEa Y CCTVedge3(sn &) 2,040
SHMIIANES 50,000& x12& 600
- OlIHUgIdE 120,000& ~12& 1,440
OA & &Hl S XY 6,000
—dESZ22d 1,000,000& = 1CH 1,000
—3tED 0l =D, HE , S22 1,000
— DO FD| HEZY 1,000
— &Y (M&ED2,AEZI|2, wWEI[1) 2,000
— HEXHED L 22/AF KA 1,000
OXt & Hi 64,744
— &2 (2th) 32,020
—A8sI2(10) 3,315,000 = 1CH 3,315
—FEs=2(100) 3,909,000& = 1CH 3,909
— = 4| 25,500,000& = 1CH 25,500
O9% & Hl 1,661
— HEXIH 2e2lAb HEe 2
1,3843& x1,2004 1,661
203 Y2 =&H| 2,000 2,000 0
03 A& =R R =AY 2,000 2,000 0
ORUNYES L DY AHAS 27 S 2,000
305 HAa=2S 50,000 0 50,000
01 HiMN=SS 50,000 0 50,000
QUEAMND FAZ2(2H) 50,000
401 AIEHIL 200 1,537,500 1,975,978 N438,478
01 A& Hl 1,537,500 1,967,500 A 430,000
OEMNKSUUIAIEBIHCH) 30,000
OAZIE &Y (B H) 20,000
02 ¥ sH=EE2 ALES(100HA) 100,000
O 2ZE TM(3001A) 30,000
Oz T2 oEAIE DH(ZMINEXNES) 20,000
OE2EXIE & X (63MA) 7,500
OL2stL A SAH|(DIE2X) 50,000
O3 (Wa==2)& (6 o) 30,000
OSSN E X L 24(3000A) 30,000
Os2& X (6MA) 90,000
Owgr mHEHE AX (10004 40%) 15,000
OMAMAE X7 & JEetE2s 60,000
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AN ALY
My C2o sz
Sl s OfE MEBY LAY CER-ED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Ogd s812] s == &l 20,000
O GtASEl AtS UHZEH 30,000
Mooy & =2s22 s 1,048,658 8,959,872 AT,911,214
= 2,081
< 10,000
s 1,036,577
XH =t XH off CH 28 == & 137,343 163,252 A 25,909
= 2,081
S 10,000
s 125,262
HHotE=s 29 78,430 111,127 A 32,697
201 £B-2dH| 16,230 13,927 2,303
01 At 22l 2,700 2,700 0
Oger==EH| 1,300
— 20138 & ot& Zte|H &l M A=
50,000& 20 1,000
— RO EAY S DALY XML Y
10,000& 30 300
OXtHTHoH CHZDI2E HI&2R A Sl
7,000& +2H 1002 1,400
02 =224l 13,530 11,227 2,303
Ozs&E2= & HA 6,468
—2ABASAE HIANSS(AE L, AEW)
10,000 20 2+ 12& 240
—Ta&s BUHEE AIAE HMIIALE 2 (JH0F
o s) 35,0003 *30f &+ 12& 1,260
~FQstd % W4T FIINER
35,0003 20 &+ 12& 840
—AAZ JIMSEE 208
30&+1,376H 1003 4,128
OA&EHl s Xl 3,222
—SLEFHI XH(H2H L =2ldl) 1,000
—dEsSEHI A2 500
—ogIAxE NREE Y AW X2 500
—QogEE NREE Az
2,036 104 60 1,222
ONESHEZAAY SEAL S4B
4,000 «80CH x 12 3,840
202 044l 1,200 1,200 0
01 SLHOIYI 1,200 1,200 0
O HE SLFEM 2 &2
60,0002 «2H 102 1,200
203 YR =2l 2,000 2,000 0
03 A BFAH S =AY 2,000 2,000 0
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PN AL ST
|

I MEMHoKE & Ss583

SRl : RHLHRHOH CH = =& (c+9): ® <)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
Ot g =& 2,000
206 M = Hl 5,000 5,000 0
01 M= bl 5,000 5,000 0
OMUHFAUINZ STMFALAHSE H=ZEE 2 X
J ¢ 10,000& *500 4 5,000
401 Al HIL 200 53,000 69,000 A 16,000
01 A& bl 53,000 69,000 A 16,000
ONMitSSESEAAE Al S|
7,000,000& *5JH A 35,000
OMolAIsSSHEEANAE =3 WA
3,000,000 6 A 18,000
405 XtabF S| 1,000 0 1,000
01 AL 2 EF SHI 1,000 0 1,000
OMMH AREN SMHMEI| 2
1,000,000& = 1CH 1,000
M- THOH OlEr A 34,751 35,289 N 538
201 et A H| 9,800 9,800 0
01 AFR2t2ldl 7,450 7,450 0
OU=0l otEoa =222 583 M
500& *5,0000H 2,500
Oexts 4,950
—MoHAE L2 MH(HS L) 440,000 504 2,200
— Mol E mWal=S MA (Al
550, 000& *5CH 2,750
02 =294l 1,350 1,350 0
OANcStE2 ¢ fEZE 2703 x5,0000H 1,350
03 & AtE G 1,000 1,000 0
OgTHe & &HA =X 1,000
—Ro=2 H=X 100& *5,0000H 500
—H0 - ZAH dANEE P 500
202 4] 1,200 1,200 0
01 2L Y| 1,200 1,200 0
OXNd X2 Mt nsx=a 60,000& x2H x5 600
OXNGXNsd M 2R 60,0003 x2H x5 600
301 dBtE A= 3,500 3,500 0
10 AL HI B A2 1,500 1,500 0
OXNYG XSS & J2ANSITE s oYl
60,000& x20H 1,200
OeHEIXH =& A& 0ol 60,000& x5 300
12 JIEtE A2 2,000 2,000 0
QTS & T - ZTAH S22 A& (x5
1 - 2ih) 50,000& x20H 1,000




2N
X ZH -
L= B
el

rag=R=p\ i
Moo e & S2s5S
XH & XH off CH 28 ==&

t

ton

(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OXNSXEY M &olxl = bl 100,000& »10H 1,000
302 OI==%! THoH = 15,251 15,789 A 538
02 RIZIOITHGOH 2 & = 15,251 15,789 A 538
OXNETsd M 24 15,251
—Moiogas =24 20,000 *40H »32] 2,400
—QHEAX Moo Es 28 24
60,000 *3H 502 9,000
— ooy & =S FLL JdoHEER 2,000
— ZHl |FH 1,851& *1,0004 1,851
401 AIEHI L 2CHYI 5,000 5,000 0
01 A& HI 5,000 5,000 0
OMtgetdgEXE ZX 500,000 1004 & 5,000
S0 AL &X 4,162 3,624 538
= 2,081
s 2,081
206 = Hl 4,162 3,624 538
= 2,081
[ia 2,081
01 =8l 4,162 3,624 538
OS=0l dFHALEE X (AHEPRZE)
1,040,500& *4H A 4,162
= 2,081
s 2,081
Ex0 28 20,000 10,000 10,000
= 10,000
[ia 10,000
307 21201 A 20,000 10,000 10,000
< 10,000
[ia 10,000
06 2= 20,000 10,000 10,000
O 2=l 28 20,000
< 10,000
i 10,000
Mot ?I & X+ &l 350,000 4,335,518 A3,985,518
MolDlol = X&= 50,000 50,000 0
02 OI=L o2& = 50,000 50,000 0
02 2IZ+OITHOH 2 & 3 50,000 50,000 0
Oolztol MHolEAS(MHXAZ) 50,000
7o ALY HEEFR 300,000 0 300,000
401 Al HIZ 201 Y] 300,000 0 300,000
01 A& HI 297,855 0 297,855
O729n AN M= 297,855
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DALY
24 TH & TH o ol 2
D Mo & X+

02 e

T

—
1
or
1y
0y
tor

% S 4 14
SN EE B (BH) - HRAY - BES e Hl D= 2t
03 Al S THHI 2,145 0 2,145
O72oun Aguz Hd=+2
297,855,000& *0.72% 2,145
ot EHl & ot=EH 557,121 4,456,980 A 3,899,859
dFXZelArd 157,121 162,000 AN4,879
101 @124 Hl 4,321 0 4,321
04 JIZHHZ2XREES 4,321 0 4,321
Odtd ==2HA 42,7803 x20H x5 4,278
OdMMEE= 4,278,000& *1% 43
201 £B-2%H| 8,800 12,000 A 3,200
01 At 22l 8,800 12,000 A 3,200
OoMols2=E+" L MEEX HH (s, 92)
440,000& = 10CH 4,400
Ootd REIH(WBSL,EZ) 440,000 *10CH 4,400
401 Al Bl 2B 144,000 150,000 26,000
01 A& HI 144,000 150,000 26,000
ONY o A5 =& U B2TA
10,000, 0002 *109H 2 100,000
oXg & Aotd =3HA
4,400,000 «100HE S 44,000
OotE Al E ALY 400,000 360,000 40,000
ANEHI &S 400,000 360,000 40,000
01 A& HI 400,000 360,000 40,000
Odt&E Al & 22| 10,000,000 *5H A 50,000
O0=&EX 24l 1,000,000& x50 Xl 50,000
Ouot EW A M T2 E(400m) 30,000
O LS FHHIAS (115m) 100,000
ORY ArSYEE Hul AL (160m) 20,000
Oy 2 FHIAL (100m) 25,000
O=d HOi& FHlA (80m) 25,000
OMMHKAEAE &L IlEF I E==(500m) 50,000
oMz & MEEZ I3 AH(500m) 50,000
aZEL FA 4,194 4,122 72
sasLs 2F 4,194 4,122 72
201 Let249] 4,194 4,122 72
01 At 22l 350 350 0
OJlaa=L JI4ES SHAl HAUI =]
7,000& «1H 504 350
02 =24l 3,844 3,772 72
OJladass 2 M & RERS
80,000& »12& 960

- 386 -




SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OJla&=A AR Y Az
1,384 102 *100L 1,384
OJ|a&#=EH X2 1,500
MEES(HELTHD) 7,605,798 9,286,604 A 1,680,806
WEHAN XK= 7,605,798 9,286,604 A 1,680,806
AUXT 33+H ALY 7,379,970 9,034,976 A 1,655,006
701 JIEIS HEE2 7,379,970 9,034,976 A 1,655,006
01 JIEtSHNME =2 7,379,970 9,034,976 A 1,655,006
O&UXN T 2= g SE3H d&==2 7,379,970
282 225,828 251,628 AN 25,800
702 J|12HE2 225,828 251,628 N 25,800
(VIS 225,828 251,628 A 25,800
O3 225,828
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